
L2 Simplifying Exponents Practice #2 

Simplify – that is remove brackets and combine all possible terms 

1. √100𝑥଼  

2. (3𝑘ଶ)ଷ   

3. (𝑥𝑦ଶ)଴.ହ    

4. √81𝑥଺ర     

5. ቀଷ௞ ௬మቁ      

6. ቀ ௫ ଷ௞మቁ      

7. 
௫షభ ଻௫మ      

8. 8𝑥ଶ(2𝑥)ିଵ    

 

9. ඥ9𝑥ଶ𝑦ିଵ  

10. ቀ ௫ ଷ௫షమቁ    

11. (10𝑦ିଷ)ଶ  

12. 𝑥 √625𝑥ଶర
  

13. ቀ ହ௫ ଵଶହ௫షభቁ         

14. (8𝑥𝑦)ଶ(4𝑥)ିଵ  

15. ቀ ହ௫షమ௫ ቁ    

16. ൬଻௫మඥ௫మ൰      
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Answers: L2 Simplifying Exponents Practice #2 

Simplify – that is remove brackets and combine all possible terms 

1. √100𝑥଼ = √100 √𝑥଼ = 10𝑥ସ   

2. (3𝑘ଶ)ଷ   =  3ଷ𝑥ଶ × ଷ =  27𝑥଺ 

3. (𝑥𝑦ଶ)଴.ହ   = 𝑥଴.ହ𝑦ଶ × ଴.ହ = 𝑥଴.ହ𝑦  or √𝑥 𝑦  if you prefer 

4. √81𝑥଺ర  = √81ర  √𝑥଺ర  = 3𝑥଺ ସ⁄    = 3𝑥ଵ.ହ   

5. ቀଷ௞ ௬మቁ   = యమೖమ൫೤మ൯మ  = 
 ଽ௞మ ௬ర    

6. ቀ ௫ ଷ௞మቁ    = 
 ଷ௞మ ௫    

7. 
௫షభ ଻௫మ   = 

ଵ଻௫మ × ௫ = 
 ଵ ଻௫య   

8. 8𝑥ଶ(2𝑥)ିଵ = 
 ଼௫మ ଶ௫    = 4𝑥   

 

9. ඥ9𝑥ଶ𝑦ିଵ = √వ ඥೣమඥ೤   = 
 ଷ௫ ඥ𝑦   or = 3𝑥𝑦ି଴.ହ if you prefer 

10. ቀ ௫ ଷ௫షమቁ   = ቀ ௫ × ௫మଷ ቁ   = 
൫ೣయ൯మయమ   = 

 ௫ల ଽ  

11. (10𝑦ିଷ)ଶ = ቀ ଵ଴ ௬యቁ   = భబమ൫೤య൯మ  = 
 ଵ଴଴ ௬ల       or =  100𝑦ି଺ 

12. 𝑥 √625𝑥ଶర
 = 𝑥 × √625ర  √𝑥ଶర

 = 𝑥 × 5 × 𝑥ଶ ସ⁄  = 5𝑥ଵ.ହ 

13. ቀ ହ௫ ଵଶହ௫షభቁ   =  ቀ ௫మଶହቁ = 
√௫మ√ଶହ = 

 ௫  ହ       
14. (8𝑥𝑦)ଶ(4𝑥)ିଵ = 

଼మ௫మ௬మ ସ௫   =  16𝑥𝑦ଶ 

15. ቀ ହ௫షమ௫ ቁ   =ቀ ହ ௫యቁ = ఱమ൫ೣయ൯మ  = 
 ଶହ ௫ల  

16. ൬଻௫మඥ௫మ൰   = 
ඥ௫మ଻௫మ = 

௫଻௫మ = 
ଵ ଻௫   
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